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Instructions to Pupils:

1. Do not open this booklet until yau are told to do sd.
2. This paper consists of 3 parts: Sections A, B'and €.
3. Follow all instructions carefuliy.
4. ANSWER ALL THE QUESTIONS.
5. Check all answers carefully.

. Maximum Marks Obtained
| Section A | 10

Section B 12
' Sectioﬁ C 8

Total 30

* This paper consists of 7 pages aftogether (including cover page).

This paper is not to be reproduced in part or whole without the permission of the

Principal.




Section A (5 X 2 marks)

For questions 1 to 5, four aoptions are given. One of them is the correct answer.
‘Make your choice and write its number 1, 2, 3 or 4 in the brackets provided
Each question carries 2 marks.

T Whatis the value of the digit 9 in 8 9017
(Mo (2) 90’
(3) 900 (4) 9000 -

2. Find the sum of 638 and 31.
{1} 639 (2) 667
(3) 669 (4) 948

3. Subfract 469 from 3 850,
(1) 3 381 ) 3 411
(3) 3-421 {4) 3 481

4. Whatis the missing number in the box?

[ Ixs=s6

(1)6 @7

(38 49

5. John and Peter have 6 530 marbles altogethér,

John has 428-marbles.

How many marbles does Peter have?
(1Y2 250 (2)6 102
(3) 6112 : #6118




Section B (4 X 1 mark, 4 X 2 marks) -

For questions 6 to 14, show your working clearly in the space beiow each
question and wirite your answer in the answer boxes provided. Give your
answers In the units stated.

8. Write the sum of the following in numbers.

7. Arrange these numbers in order.
Begin with the greatest.

C O OCOTOTD

greatest

8. Complete the number pattern below.

9128 9328

-1 Lg ‘ _’v--r"l".""-"“.i




8. Whatis the missirig- number in the hox?

A Iadybug has 6 legs.

Number of ladybugs 1 2 3 6

Number of legs 6 12 18

-10. What are the missing numbers represented by A and B?

4 1 -9 AI

11, Mei Ling has 32 hairclips.
‘She has 8 fimes as many hairclips as Su Zhen.
How many hairclips does Su Zhen have?

-hairclips




12,

13.

value,

- Work out the following subtractions and circle the box with the smallest.

2351-242

3121-1075

2136 - 89

You are given 4 cards.

2

0

Use the cards above to solve the following problem.

What is the difference between the greatest 4-digit number
and the smallest 4-digit number?




Section € (2 X 4 marks)

For questions 15 and 16, show your working clearly in the space below each

question and write your number and answer statements in the blanks
provided.

14.  Alaptop costs $1 350

A smartphone costs $856 less than the laptop.
An iPad costs $298 more than the smartphone.
How much does the ipad cost?

Working




i5.

Mrs Lim bought 3 boxes of cupcakes.
There were 8 cupcakes in each box.
Her chiidren ate 13 cupcakes.

How many cupcakes were leff?

nd of Papér
“*Please check your worlc

Working
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Section B
Q6) 3019
Q7) 2815, 2581, 2518, 2251, 2158
Q8) 8328, 8528, 8728; 8928, 9128, 9328
Q9) 36
Q10) A: 5
B: 8
Q11) 4 Hairclips
Q12) 3121 - 1075

Q13)3186

Section C

Q14) 1350 — 856 = 494
494.— 298 = 792
The iPad cost $792.

Q15)8x3 =24
24-13 =11

There were 11 cupcakes left.
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